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30,393,500 24,981,000 5,412,500
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2,940,000
5,621,300
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SHEL2EFHL ALY 18,969,000 17,477,000 1,492,000
16,128,000
2,841,000

ooy

403 AXHHSKH=0lA 18,969,000 17,477,000 1,492,000

16,128,000
2,841,000
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ES 18,969,000 17,477,000 1,492,000
w=IHE AL 18,969,000

16,128,000
2,841,000
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2RSS AEMNSAY 3,539,000 3,160,000 379,000

3,135,000
404,000

H oo

403 A X EHS =0l A 3,539,000 3,160,000 379,000

3,135,000
404,000

Hooe

01 AXISHHA=2E = 3,539,000 3,160,000 379,000
OLASESAIENAMY 3,539,000
3,135,000
404,000

ooy

=S MDA 1,500,000 1,500,000 0

403 A X EHHS =0l A 1,500,000 1,500,000 0

01 AXSHMA=2EER 1,500,000 1,500,000 0
2 1,500,000

2N Hes =2HAAME 2,940,000 2,675,000 265,000
Jl 2,940,000

403 AXHHSXH=0lA 2,940,000 2,675,000 265,000
Jl 2,940,000

01 AR SHHA =22 = 2,940,000 2,675,000 265,000

OYZEXNY H=2 =ZIHLAS(SAIIS) 2,940,000
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HE: o2 20/ UAE B=E 52
S9l: TPl DS} BHEGHE QS 2 B3 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| J| 2,940,000
2P FA 6,700 5,500 1,200
201 Let24E] 5,500 5,500 0
01 At 2t 2l 4,500 4,500 0
OBt & ==&l 4,500
02 2324gl 1,000 1,000 0
Oz22= & HMA 1,000
—-8=24ot=5 a3 1,000
203 YR =2t 1,200 0 1,200
03 AIMFAH S =AY 1,200 0 1,200
O+ZFHMYLAREX 1,200
HASEE SUHS=2 HEXNE M 118,800 163,500 A44.700
= 79,200
< 39,600
403 MHXISHHEA=20lH 118,800 163,500 A 44,700
= 79,200
< 39,600
01 X EHHMA=ZLE L 118,800 163,500 A 44,700
OMASE 2UHS=2 HEXE ALY 118,800
= 79,200
< 39,600
DEH>HelAME EXA Y 3,320,000 0 3,320,000
& 2,490,000
= 830,000
403 MtXISHH S =0l & 3,320,000 0 3,320,000
& 2,490,000
S 830,000
01 AXSHMA2E X 3,320,000 0 3,320,000
ODREF=XelANE EXAY 3,320,000
& 2,490,000
< 830,000
SEFQ A2 WRE =12 &2 18,351,758 18,527,526 A 175,768
= 4,000,000
= 12,197,000
J| 188,963
< 1,965,795
=& =22gsgae| QA 50,000 50,000 0
J| 50,000
101 14l 50,000 50,000 0
J| 50,000
4 JI12ZHHZE2EXNEES 50,000 50,000 0
Oz23d =23sd 22 50,000
-=20 37,104
J| 37,104
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M =222
HH: o2 20/ Uit #=s &2
o4 282 A2 WRE =3 SHE (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| = 7,143,900
HELEA HZA 4,821,895 1,476,700 3,345,195
= 4,000,000
< 821,895
403 XAXISH M S X201 A 4,821,895 1,476,700 3,345,195
= 4,000,000
= 821,895
01 XXM A2E = 4,821,895 1,476,700 3,345,195
OHIE2E N ZALS 4,821,895
= 4,000,000
< 821,895
TEEMES NFAY 96,000 98,000 A 2,000
| 96,000
308 KXIEH S0l 96,000 98,000 A2,000
| 96,000
01 IXNHHBANEES 96,000 98,000 22,000
O =22d&s NI 96,000
| 96,000
St A4 522 HHE Mzl 24 192,139,560 133,791,180 58,348,380
= 171,614,000
< 20,525,560
St=Xceld &5 34,718,900 19,487,020 15,231,880
= 29,908,000
< 4,810,900
403 XHXI SIS Xt =201 ® 34,718,900 19,487,020 15,231,880
= 29,908,000
< 4,810,900
01 XXM A=2E £ 34,718,900 19,487,020 15,231,880
Odt=xel & &= 34,718,900
= 29,908,000
< 4,810,900
HoRcte=xeld &X 11,270,000 4,506,240 6,763,760
= 10,236,000
< 1,034,000
403 XX SH S X =0/ H 11,270,000 4,506,240 6,763,760
= 10,236,000
= 1,034,000
01 XM A2E X 11,270,000 4,506,240 6,763,760
O Hedt=X™eld 4X 11,270,000
= 10,236,000
< 1,034,000
SteXelds itz o 1,418,000 963,000 455,000
= 1,418,000
403 UtXISHE X201 H 1,418,000 963,000 455,000
= 1,418,000
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

01 AXSHMA=2EE 1,418,000 963,000 455,000
Odt=xMcl sz 1,418,000
= 1,418,000

SHE0Sat=S & 19,139,000 16,304,500 2,834,500
= 8,157,000
= 982,000

403 A X EHHS =0l A 19,139,000 16,304,500 2,834,500
=2 18,157,000
< 982,000

01 X SHHX2E = 19,139,000 16,304,500 2,834,500
Os0HEOSot=Z & 19,139,000
= 18,157,000
< 982,000

ot =2t A Z | 46,260,940 58,703,960 A 12,443,020
= 41,042,000
= 5,218,940

403 XM SA=0l& 46,260,940 58,703,960 A 12,443,020
= 41,042,000
< 5,218,940

01 X SHMA2E X 46,260,940 58,703,960 N 12,443,020
Odt==2t 1 FHl 46,260,940
= 41,042,000
= 5,218,940

St=2t 1 ZHIBTLE U = 31,159,100 28,359,600 2,799,500
= 29,854,000
< 1,305,100

403 MtXISHE X201 E 31,159,100 28,359,600 2,799,500
= 29,854,000
< 1,305,100

01 X SHHA2E= 31,159,100 28,359,600 2,799,500
O ol=21ZHIBTLE U = 31,159,100
= 29,854,000
= 1,305,100

EoMANLES 1,654,320 3,928,960 A2,274,640
= 1,499,000
< 155,320

403 XHXI SIS Xt =201 ® 1,654,320 3,928,960 A2,274,640
= 1,499,000
< 155,320

01 X EHHMA=E L 1,654,320 3,928,960 A2,274,640
OzXelAg &= 1,654,320
= 1,499,000
< 165,320

=SS HEAIE HEAY 7,174,000 1,500,000 5,674,000
= 7,174,000
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= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
403 MtXISHHE =01 & 7,174,000 1,500,000 5,674,000
= 7,174,000
01 XM A=2E X 7,174,000 1,500,000 5,674,000
OIEEx B3HMAE HE ALY 7,174,000
= 7,174,000
2 2el2HE S#FIeE I 30,000 0 30,000
207 A RO H] 30,000 0 30,000
01 A7 39l 30,000 0 30,000
OJ=crael Jl=2de da3ge 8ot 30,000
ENE=USE 39,315,300 0 39,315,300
= 32,326,000
< 6,989,300
403 XSS X201 & 39,315,300 0 39,315,300
= 32,326,000
< 6,989,300
01 X ESHHMA=E L 39,315,300 0 39,315,300
OZANE=UE 39,315,300
= 32,326,000
< 6,989,300
N &Eotsgt Xoks= 2el A =28 362,900 300,900 62,000
Not+=EX2A=ZT LIS 264,000 264,000 0
403 X SHHSA=0l& 264,000 264,000 0
01 HXSHMA=E X 264,000 264,000 0
OXdt=2=x 2= A ALY 264,000
A=z =22 4,900 4,900 0
202 044l 4,500 4,500 0
01 = LH o4 1l 4,500 4,500 0
OH=ds =& 4,500
206 = Hl 400 400 0
01 =8l 400 400 0
HeEME REMNS R8s 400
H==ZsA4 DS &TI EXAMY 94,000 32,000 62,000
403 HXSHHSA=0l& 94,000 32,000 62,000
01 HXSHMA=E X 94,000 32,000 62,000
OHE=ESESSAE ANAdaZI| XX A 94,000
=g 22 800,000 1,200,000 A 400,000
+HINERES RS 800,000 1,200,000 A 400,000
FEINERESE+URS 800,000 1,200,000 A 400,000
308 XX EHH SOl A 800,000 1,200,000 A 400,000
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3 g 22
A
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el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
02 A+ue3 800,000 1,200,000 A 400,000
O+ENM2SS Y403 800,000
HY2IZH (== 22l D) 52,269 50,518 1,751
JlEZ3l 52,269 50,518 1,751
JlE2&l 52,269 50,518 1,751
201 L2l 16,359 15,498 861
01 At 22l 16,359 15,498 861
OJ12=&Htl 6,878
OJles gl 9,481
202 o4dl 35,910 34,020 1,890
01 = LH o4 1l 35,910 34,020 1,890
OJlautl 35,910
HWees(=22elt) 227,500 227,500 0
SHXNE 227,500 227,500 0
B&EXE 227,500 227,500 0
705 Ol== Rl 3 &S 227,500 227,500 0
04 Al - SN SHNLDI S0 =30 A&kt 227,500 227,500 0
02010 ot=HMcl Z At 157,500
02010 ot=2HEFHI ALY 70,000




